B 7= Hpg/asqFr—

7JVIDTM—3 7JVIDTM—4 7JVIDTM—5
. 53501 2.73m, 7IIA RIS — 53502 2.73m,/ 7ILRA bLILIN— 53503 2.73m/ FI=A hIIIS—

I
e

ﬁm%w—
Fﬁ
hlofls—
Fﬁ

=
N\
5
=
N
45

Va

7IVLIDTM—6 7ILIDTM—8
3504 273m/ TILA hIILIN— 3505 273m/TIVA hILIN—

I
I

ﬁm#w—
Dﬁ
»6.5#14—17.5—
hlo#w—A
Dh
R8.5$15.5ﬁ

N
BN

N
~
<

I

N
9

I 53520

IDT3R-3 7L DT3R—4 7)
3m/ TR hIILIN= 3521 2.73m/ 7IL=A RILis— 53522

VLIDT3R-5 )
2.73m ./ F7ITA MILIN—

)

w
AN
5

*
N
5

flofw—
Fﬁ
thﬁ*lS—
Fﬁ

I

7JVXDT3R—6 7JVXDT3R—8
53523 2.73m/ FITA RIIVIN— 3524 2.73m/ T A R ILIN—

flOﬂ*lS—
%
»6.5% 17.5 ——1
thﬁ*lS—
@T
8 541#15 5—1

&
N

&
N

TIVIEmIE, 1ARDPSHT—E LT (BRIFTZEE) »RIEETT,




